
SAP ABAP table REEXC_CONTROLLING_AREA {Controlling Area (TKA01)}

REEXC_CONTROLLING_AREA

MANDT [CLNT (3)]

WAERS [CUKY (5)]

KTOPL [CHAR (4)]

LMONA [CHAR (2)]

LOGSYSTEM [CHAR (10)]

MD_LOGSYSTEM [CHAR (10)]

ERKRS [CHAR (4)]

DPRCT [CHAR (10)]

PCLDG [CHAR (2)]

KSTAR_FIN [CHAR (10)]

KSTAR_FID [CHAR (10)]

PCACUR [CUKY (5)]

BLART [CHAR (2)]

FIKRS [CHAR (4)]

CVPROF [CHAR (4)]

VNAME [CHAR (12)]

DEFPRCTR [CHAR (10)]

CEPC

MANDT [CLNT (3)]

PRCTR [CHAR (10)]

DATBI [DATS (8)]

KOKRS [CHAR (4)]

 REEXC_CONTROLLING_AREA-DEFPRCTR = CEPC-PRCTR 

0..N

0..N

 REEXC_CONTROLLING_AREA-DPRCT = CEPC-PRCTR 0..N

1

CSKA

MANDT [CLNT (3)]

KTOPL [CHAR (4)]

KSTAR [CHAR (10)]

 REEXC_CONTROLLING_AREA-KSTAR_FID = CSKA-KSTAR 

0..N

{0,1}

 REEXC_CONTROLLING_AREA-KSTAR_FIN = CSKA-KSTAR 0..N

{0,1}

FM01

MANDT [CLNT (3)]

FIKRS [CHAR (4)]

 REEXC_CONTROLLING_AREA-FIKRS = FM01-FIKRS 
0..N

{0,1}

T000

MANDT [CLNT (3)]

 REEXC_CONTROLLING_AREA-MANDT = T000-MANDT 
0..N

1

T003

MANDT [CLNT (3)]

BLART [CHAR (2)]

 REEXC_CONTROLLING_AREA-BLART = T003-BLART 
0..N

{0,1}

T004

MANDT [CLNT (3)]

KTOPL [CHAR (4)]
 REEXC_CONTROLLING_AREA-KTOPL = T004-KTOPL 0..N

1
T009

MANDT [CLNT (3)]

PERIV [CHAR (2)]

 REEXC_CONTROLLING_AREA-LMONA = T009-PERIV 
0..N1

T881

MANDT [CLNT (3)]

RLDNR [CHAR (2)]

 REEXC_CONTROLLING_AREA-PCLDG = T881-RLDNR 

0..N

1

TBDLS

LOGSYS [CHAR (10)]

 REEXC_CONTROLLING_AREA-LOGSYSTEM = TBDLS-LOGSYS 

0..N

1

 REEXC_CONTROLLING_AREA-MD_LOGSYSTEM = TBDLS-LOGSYS 

0..N

1

TCURC

MANDT [CLNT (3)]

WAERS [CUKY (5)]

 REEXC_CONTROLLING_AREA-PCACUR = TCURC-WAERS 

0..N

1

 REEXC_CONTROLLING_AREA-WAERS = TCURC-WAERS 

0..N

1

TCVPROF

MANDT [CLNT (3)]

CVPROF [CHAR (4)]

 REEXC_CONTROLLING_AREA-CVPROF = TCVPROF-CVPROF 

0..N

{0,1}

TKEB

MANDT [CLNT (3)]

ERKRS [CHAR (4)]

 REEXC_CONTROLLING_AREA-ERKRS = TKEB-ERKRS 

0..N

1

USR02

MANDT [CLNT (3)]

BNAME [CHAR (12)]

 REEXC_CONTROLLING_AREA-VNAME = USR02-BNAME 

0..N

{0,1}


